C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a5 with the value of 500 or 5 hundreds?
A. 425 B. 6,951 C.532 D. 8,795

Which choice has a7 with the value of 7,000 or 7 thousands?
A. 49,837 B. 75,249 C. 7,985 D. 83,267

Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 476,128 B. 647,352 C. 693,127 D. 31,785

Which choice has a2 with the value of 20 or 2 tens?
A. 24 B. 264 C.52 D. 42

Which choice has a 7 with the value of 700 or 7 hundreds?
A. 3,748 B. 7,561 C. 237 D. 467

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 8,736 B. 56,841 C. 87,135 D. 29,846

Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 47,295 B. 489,765 C. 241,963 D. 93,625

Which choice has a9 with the value of 90 or 9 tens?
A. 69 B. 98 C.29 D. 69

Which choice has a9 with the value of 900 or 9 hundreds?
A. 698 B. 3,597 C. 9,675 D. 945

Which choice has a5 with the value of 5,000 or 5 thousands?
A. 7,459 B. 65,392 C. 74,865 D. 74,395

Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 185,932 B. 27,835 C. 654,398 D. 97,168

Which choice has a5 with the value of 50 or 5 tens?

Answers

10.
11.

12.

C
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A. 645 B. 158 C. 562 D. 675
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Answer Key

Solve each problem.

1) Which choice has a 5 with the value of 500 or 5 hundreds?
A. 425 B. 6,951 C.532 D. 8,795

2) Which choice has a 7 with the value of 7,000 or 7 thousands?
A. 49,837 B. 75,249 C. 7,985 D. 83,267

3) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 476,128 B. 647,352 C. 693,127 D. 31,785

4) Which choice has a 2 with the value of 20 or 2 tens?
A. 24 B. 264 C.52 D. 42

5) Which choice has a 7 with the value of 700 or 7 hundreds?
A. 3,748 B. 7,561 C. 237 D. 467

6) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 8,736 B. 56,841 C. 87,135 D. 29,846

7) 'Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 47,295 B. 489,765 C. 241,963 D. 93,625

8) Which choice has a 9 with the value of 90 or 9 tens?
A. 69 B. 98 C.29 D. 69

9) Which choice has a9 with the value of 900 or 9 hundreds?
A. 698 B. 3,597 C. 9,675 D. 945

10) Which choice has a5 with the value of 5,000 or 5 thousands?
A. 7,459 B. 65,392 C. 74,865 D. 74,395

11) Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 185,932 B. 27,835 C. 654,398 D. 97,168

12) Which choice has a5 with the value of 50 or 5 tens?
A. 645 B. 158 C. 562 D. 675

Answers
1. C
2. C
3 A
s A
5. A
6. A
7 D
s B
9. D
0. B
1. A
1. B
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